A amas.  Hinged Double Door Kit 7730
Follow Me  Caelum Euro Cylinder  Kit 405

——— —

H

il
1

88754499 rev. 2


http://www.troax.com/mytroax/sites/default/files/36907730.pdf
http://www.troax.com/mytroax/sites/default/files/88697730.pdf
http://www.troax.com/mytroax/sites/default/files/36800240.pdf
http://www.troax.com/mytroax/sites/default/files/36800515.pdf

M8x65 M6S
89050045

4 mm
36700082

M8

89050525

T::::: S
\§
—— |
——
= | —
D | S—
\§
e —
\
————
\
S | —
\\
\§
——
—— | N —
\
:§\ &_‘@ —
e | .
— \
T -
| S —— | N | E—— B —
U e | . —
 -\ —
\
\\
D | E——

Il



= _J|
J

I[= J
J J

/789050759
. ‘, \%\
\%\

89050525
89050138
M8x35 MF6S

ss

N N

3\\13\\\\
x\?\}\\\\

/A A |






!

Al
O g o
O ’ﬁ
@ 0 36901559 36901549
p 89050136 36901569
JE ol @ M5x16 MF6S
. h Al N o
/ V i 6\/ ) @ \ . J
36901519 7 Ve = ARYs

89200126
36901539

36901529

~

89050209
M5x20 MF6S

(e
\ \ L

1 2 3 4
ES = =] =3

<& @ T— [ @

- L L =
Hinila/B =N | | 4|




M8x35 MF6S

36900109

89050138

@} .
—89050525
M8

Cut out in UXSP

89050525 | | |

M8

M8x35 MF6S
36901449 — |

\\
\
\
\
\
89050207
89050138
(extra)

E!!!!‘\!.\\Q!

[ ] I )KL )]



http://www.troax.com/mytroax/sites/default/files/cutout_uxsp_ec_hinged.pdf

—
I
—
—
—
—
—
—
—
—
—
—

—

———

89050525

M8

L

1

36501019
26503119
M8x35 MF6S
89050138
26503129

89050525 =
N — /|

< 14,00 mm

)

|
'
'
'
'

36700082

M8x35 MF6S
89050138



